Algebra
Equations - Solving with a Variable Input

Morgan finds two video Li 2 i s B B i s

stores within walking distance of her home
that offer very different rental plans for their
DVDs. The first store has a $25 annual
membership fee + $2 each rental. Use the
equation C = $25 + $2x to calculate the cost
fo Morgan for a year's membership if she
rents a total of 25 DVDs at this first store.

C=8$

Touch for Solution
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Admlssmn 10 each race is an extra $2. If 250
people came to the races, how much money
would be collected by the Admissions?

v C=$(1.750.00

C=55x+$52x C = $5(250) + $2(250)
C=951,250+$500 C=51,750.00
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Mia visits two stores for the ! & & 4 56070 &

best deal on a bucket of chicken for her
family. Each store sells chicken by the bucket:

Store A: $15.00/bucket (b) + $2.00/piece (p)
Store B: $17.50/bucket (b) + $1.00/piece (p)

Using the equation C = b + xp, calculate the
cost to Mia if she bought one bucket of
chicken plus 8 extra pieces at both stores.

Store A:C=9$ StoreB:C=$

Touch for Solution
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